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Explain the mean;j .
eaning of “Maximization of Profit” in the Financial Management, © 7

OR
Explain th :
plain the Modem and Traditional concept of financial function.

Attempt any two :
0 . 4
(1) Explain in detail the role of Financial Manager.
(2) Explain Administrative Finance functions.
(3) Discuss stages of evolution of Financial Management.

Answer the following : ' 3
(1) What is Managerial Finance function ?

(2) What is earning per share ?

(3) Whatis wealth maximization ?

Explain causes of finangial risk and business risk. .
OR |
What is time value of money 9 Explain present value and future value.
Attempt any fwo - .
(1) Write short note on “Bond Market".
(2)  Explain the future value of an annuity.
(3) Explain <4’ model of equity share valuation.
3
Answer the following -
(1) Whatis Market Risk ?
(2) What is coupo? rate ?
wggcial Risk". | P.T..Q.J

3) Explain



3.

(A)

(B)

©)

(A)

L e . two projects j .
A company is considering to install projects DVolving an investment of

iod of both
¥ 6,00,000 each. Calculate pay-back perio the Project with
L r ] « & : h
discounted cash flow and give your option. . the help of ,
Cash flow from both the projects are as under :

Year | Project— 1 | Project—2 |
! 1,40.000 2,90,000
2 2.20,000 2,80,000
3 2.30,000 90.000
4 1,50,000 65,000
5 200,000 2,00,000

Present value of Z 1 at 5% rate is as under :
Year Discount factor

1 0.9524

2 0.9070

3 0.8638

4 0.8227

5 0.784

OR =

What is working capital ? Discuss the factors affecting working . capital

requirement,

Attempt any two : 4
(1)  Explain Capital rationing.
(2)  Explain Fluctuating working capital.
(3)  Explain characteristics of working capital in brief.
Answer the following : 3
(1) What is net working capital ?
(2) Explain the circulating nature of working capital in short.
(3) Whatis the investment pay-back method.
8

Following details related to a company for the year 2015-16.
Equity share capital (Each of ¥ 10) 3 2,00,000.

10% Debentures ¥ 4,00,000.

Sales T 15,00,000

Variable Operating expenses 60% of Sales,

Fixed Operating expenses ¥ 1,50,000.

Rate of Tax 50%.

On the basis of these details calculate -

(1)  Degree of Operating Leverage

"~ (2) Degree of Financial Leverape

(3) Degree of Combined Leverage
OR



he
: Liabjji;—aof a Company as on 31-03-2016 is .
Equity Capita] @1 0";':9;1 b 7 A—:iaﬂt-lﬂ;__
c ) k14 L

I;{(;::ewcs 1,00,000 | Fixed Asset_s—_—"m
% Preference ¢« 0.000 | C 2,00,000
10% D Capitg) ndg | eAReE |1

6 Debentures gy o ( 100 each) | 50,000 SR
Current Liabiljtjeg - cach) 50,000

50,000
E\lc)iditio[:lal information . 300000 3,00,000
€ cost et
(2) Tax yita izf;[;!;:'y capital is 16% and the cost of reserves is 15%.
(3) € avery .

; B¢ market pri der :
Bouis prices are as under :
Calcu[a?e th);St!:,?{gs ? 18, Preference share ¥ 80 and Debentures T 70.
win
(1) Weip I
) Wg?:]}ll:ed average cost of capital under the book value,
ghted average cost of capital under the market value.

5.  Select the correct answer :

(1)

2)

3)

“)

()
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(1) Explain - Fixed Dividend Policy.
(2) What Is Equity Share ? Discuss its characteristics.
(3)  Explain the cost of debenture.

14

The function of Finance Manager is . . _
(a) Estimate needs of finance (b) Distribution of the finance
(c) Procurement of Finance (d) Allof the above
The only feasible purpose of Finance Management is .
(a) Wealth Maximization (b) Profit Maximization
(c) Sales Maximization (d) Asset Maximization
Which of the following is not limitation of traditional approach of finance
function ? o
(a) Procurement of funds as ]:;i; lob_lectwes of firms
(b) Avoidancc'of finance cfotp o
(c) Consideration of use of fun
(d) None of the above
future cash flow.
: : rate, ___ thepresent value pf
Higher the discoutt (b) Higher
@ Lowy (d) Speedy
(©) ixe _
red with :
.-« with different expected return can be compa B
Risk of two secunt}c:;:i’;:‘i:; P (b) Standard deviation of securities
(a) Coe.fﬁcl: I:Jf(:hc securities (d) Noneofthe above
(c) Varan€



(6) Financial securities contain ___— (b
(a) Equity share d) Debﬁ'nlure
(c) Preference share @ Al Ofthe aboy,e

(7)  Working capital is also known as __

(a)  Fluctuating capital (b) Circulating can;

(c) Both (a) and (b) (d)  Sma capﬁaiap i
t)) is the planning of long term investment,

(@) Capital budget ()  Cash bydget

(c) Sales budget (d) Malerial‘budget

(9) Net working capital. =
(a) Total assets less fixed assets (b) Currenfassets
(¢)  Current assets less current-liabilities . (d) None ofthe above

(10) A Ltd. wants to install a machine costing ¥ 6,00,000. It will earn an annual profit
of ¥ 80,000 after charging depreciation at 10% p.a,, Tax rate is 50%,. What should

be the payback period from the following ?

(a) 15 years (b) 7.5 years

(¢c) 6.years (d) None of the above
(I'1) capital is considered in-analysis of cost of capital. :

(a) Long term capital (b) Short tenn capital

(c) Both (a) and (b) (d) Cost of sales

(12) Preference shareholders.get preference at the time of
(a) Purchase of.shares -~ (b) Festivals
(c) Public offer (d) Payment of Dividend

(13) Operatingleverage =
(a): Contribution + Earning before-interest-and tax
(b) " Eaming before interest and tax + contribution
(c). . Contribution X Earn'fng befare interest and tax
(d}— Contribution + Earning béfore interest . and-tax
; - o
(14) Ifithe risk free'return is 8%, befavalue:is 1.8 and market raté of return is 14%, the
expected rate ofireturn would be : -
- 18.8% by, Lias®
&; o 02 g d; None of the above




